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# Teg. Impuls y=-7.8178Ln(x) + 1228.8
W ZnO Murrni y =-79.982Ln(x) + 801.11
ZnMn 0.5 % y = -74.455Ln(x) + 413.11
ZnMn 1 % y =-30.963Ln(x) + 211.08
WZMn1.5% y = -38.246Ln(X) + 231.62
® ZnMn 2 % y=-27.66Ln(x) + 176.8
® ZnMn'5 % y = -66.146Ln(x) + 314.67
O T T T T T
210 © 1 2 3 4 5 6
-20 [ >7 66l
~30.963 [-27.66]
-30 P N
/ / |-38.246 T
-50
o I/
e [o6.146]
-70 1 -74.455
o [-79.982 ]
-79.982
-90
Gradien % Komposisi




B

(non linear)
0.8
0.7 /0\ g

0.6 —ﬂo 5662 / /c [0.6685 |
/ 0.5509

0.5 \
0.4

0.3 033 |
0.2
0.1
0 . . . . .
0 1 2 3 4 5 6

% Komposisi




